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Thm. Fundamental Theorem of Calculus

If 𝑓(𝑥) is a continuous function on [𝑎, 𝑏], 
and if 𝐹′(𝑥) = 𝑓(𝑥), then
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Improper Integrals
An improper integral is one where an 

endpoint is infinite or where there is a 

vertical asymptote on the interval.

→ To evaluate, we must change these 

problems to limits.

→ If the limit exists, we say that the integral 

converges.  Otherwise, it diverges.
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Ex. Find the value of                 or show that it 

doesn’t exist. 

Note that the statement of the problem clues you in that it’s an improper integral.
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Unit 6 Progress Check: MCQ Part C

• Do them all
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